(x=[_]?

x2—2x—|—\:|

® 3 @ 4 ® 5

@ 2

(x=1)2

‘ x2—2x+1



2. e T4 Tay+10y* O A9E BT AEHN(FH 271)

@D x+y @x—i—Zy @x—H’)y

@ x-2y ® x-5y

x2 + Txy + 10y? = (x + 5y)(x + 2y)




3. a-b=2V3L W, a®+b*>-2ab-3(a—-b)-12 2 F2?

@)-6v3 @ 1-63 ® 2-6+3
@ 3-6V3 ©® 4-6V3

(EA) = (a-b)* -3(a-b) - 12
=(2V3)2-3x2V3-12
=12-6V3-12=-6V3




4a® — 9b*
® (2a+ 3b)(2a - b) @ (2a+ b)(2a - 3b)
@) (24 + 3b)(2a - 3b) @ (4a + 3b)(a - 3b)

® (2a+9b)(2a-b)

‘ 4a? - 9b? = (2a)? — (3b)% = (2a + 3b)(2a — 3b)




5. 2x% +ax+b S AFEMNTH 2x+1)(x+1)°] Hrt. ol a + b E

®-5 @5 ® 7 @ -1 @

2x+1D(x+1)=2x>+3x+1
a=3, b=1
La+b=14




6.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)
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@ x+1 © x-1 © a+1
® x-2 @ a-1
® 6,0, ® ©,0 ®)O,©, ®
ONENG) ® ©,6,0

a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




8.

X +y2-4-2xy 9

@x—y—Q

@ x-y+4

A7t o Qe A2
@ x-y-4 ® x+y-2
® x+y+2
P4y -d-2xy = (x-y)?>-2°

=(x-y+2)(x-y-2)




(2x—ay) (bx +cy) oA xy o] AF7E9 D ), a, b, ¢ 9 Fko] 2
= A2?

D a=-1,b=3,¢c=3 @ a=3,b=1,¢c=6
@azZ,b:3,c:6 @ a=1,b=1,c¢c=5

®a=-1,b=1,c=4

~
T

(F41) = 2bx% + (2c — ab) xy — acy? O|E2
2c—ab=9




10. FHAPAF ] Wol7}k 2x2 4 5x 4 2 0|2 T O] Zo|7F2x 41 & o,

=o]&=?
@x+2 @ x-2 @ 2x-1
@ x-1 ® x+1

2x2 +5x+2 = (2x + 1)(x + 2)
web ol x 42 oleh,




11 (x—1)(x=3)(x - 5)(x = 7) + k 7t FRAABA o] HEZ 4% & 9

29

® 2 @ 4 ® 6 ® 11 @16

(x-Dx-7)(x-3)(x-5)+k

:( - 8x+7)(x>—8x+15) +k
—Sx=A=% EOH,

(A+7)(A+15)+k

=A%+ 22A+ 105+ k= (A +11)2

5105+ k=112 =121

k=16




12 x=V2+1y=v2-1 <o - o] g3 57

® 2 @v2 222 @ivi O3

x+y=2V2, x-y=2
2=y =(x+y)(x-y) =2V2x2 =42




13. ohg2 QSR g vebd Aotk [ | gt EojZ we
= yadet A2?

@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)

O (x+y)2+3@x+y) +2°A[ |2 A & x@%t

DO x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x3 - 8x% — 10x = 2x(x? — 4x - 5)
=2x(x-5)(x+1)




14, THgA] 4xt - 502 4 1.2 ) ] AxbAl0] Bog A% Hafget. y
o) QapA10] g2

O 2x+1 @ 2x-1 (@)m
@ 6x+1 ® 4x-2

(4x>=1)(x*-1)=2x+ )(2x - 1)(x+ 1)(x - 1)
(A ) =2x+1+2x—14+x4+1+x-1
= 6x
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o E2 AR 2] HolE x ehy 7t
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